
© 2023 Kason Industries, Inc.    IS-0028    0923 kasonind.com  |  1.800.935.2766  |  PAGE 1 of 4

0028 SafeGuard® Performer™ Locking Handle
Part Number: 10028*

INSTALLATION INSTRUCTIONS

STEP 1

Ø7/8
(22.2)

Thru Hole

DOOR
EDGE

1-1/2
(38.1)

1-3/4
(44.5)

Ø5/16
(7.9)

Pilot Hole
3/8 Deep

Typ (2)
JAMB

JAMB
EDGE

Drill for
#6 Screw

27/32
(21.1)

Drill & Tap
for #10 (M5)
Screw Typ(2)

Ø7/8
(22.2)

Thru Hole

DOOR

HANDLE

1/16
(1.6)
*See Note

Handle Mtg.
for 5/16 (M8)
Screw Typ (2)

11/2
(38.1)

3/4
(19.1)

Mount anti-rotation plate
using #10 (M5) Screw Typ (2)

*Suggestion to compensate for
door sag. Locate strike 1/16 (1.6)
below center line of latch

11-1/2
(292.1)

3-1/8
(79.4)

1-1/8
(28.6)

VIEW OF
JAMB INTERIOR

Ø7/8
(22.2)

Thru Hole

DOOR
EDGE

1-1/2
(38.1)

1-3/4
(44.5)

Ø5/16
(7.9)

Pilot Hole
3/8 Deep

Typ (2)
JAMB

JAMB
EDGE

Drill for
#6 Screw

27/32
(21.1)

Drill & Tap
for #10 (M5)
Screw Typ(2)

Ø7/8
(22.2)

Thru Hole

DOOR

HANDLE

1/16
(1.6)
*See Note

Handle Mtg.
for 5/16 (M8)
Screw Typ (2)

11/2
(38.1)

3/4
(19.1)

Mount anti-rotation plate
using #10 (M5) Screw Typ (2)

*Suggestion to compensate for
door sag. Locate strike 1/16 (1.6)
below center line of latch

11-1/2
(292.1)

3-1/8
(79.4)

1-1/8
(28.6)

VIEW OF
JAMB INTERIOR

Note: All illustrations show right hand hinged door invert for left hand application

Prepare Door and Jamb

Ø7/8
(22.2)

Thru Hole

DOOR
EDGE

1-1/2
(38.1)

1-3/4
(44.5)

Ø5/16
(7.9)

Pilot Hole
3/8 Deep

Typ (2)
JAMB

JAMB
EDGE

Drill for
#6 Screw

27/32
(21.1)

Drill & Tap
for #10 (M5)
Screw Typ(2)

Ø7/8
(22.2)

Thru Hole

DOOR

HANDLE

1/16
(1.6)
*See Note

Handle Mtg.
for 5/16 (M8)
Screw Typ (2)

11/2
(38.1)

3/4
(19.1)

Mount anti-rotation plate
using #10 (M5) Screw Typ (2)

*Suggestion to compensate for
door sag. Locate strike 1/16 (1.6)
below center line of latch

11-1/2
(292.1)

3-1/8
(79.4)

1-1/8
(28.6)

VIEW OF
JAMB INTERIOR

http://ww.kasonind.com/


© 2023 Kason Industries, Inc.    IS-0028    0923 kasonind.com  |  1.800.935.2766  |  PAGE 2 of 4

0028 SafeGuard® Performer™ Locking Handle
Part Number: 10028*

INSTALLATION INSTRUCTIONS

Attach anti-rotation plate
to exterior of jamb using 
#10 (M5) flat head screws

Mount Handle to door using
5/16 (M8) fastener Typ(2)

Mount inside release escutcheon plate
to interior jamb using #10 (M5) flat head screws

When required for special offsets,
mount spacer 0485-99-117 under escutheon plate,
longer screws may be required.

Tether body to panel
using #6 (3.0) Screw

STEP 2

STEP 4

STEP 3

Attach anti-rotation plate
to exterior of jamb using 
#10 (M5) flat head screws

Mount Handle to door using
5/16 (M8) fastener Typ(2)

Mount inside release escutcheon plate
to interior jamb using #10 (M5) flat head screws

When required for special offsets,
mount spacer 0485-99-117 under escutheon plate,
longer screws may be required.

Tether body to panel
using #6 (3.0) Screw

Attach anti-rotation plate
to exterior of jamb using 
#10 (M5) flat head screws

Mount Handle to door using
5/16 (M8) fastener Typ(2)

Mount inside release escutcheon plate
to interior jamb using #10 (M5) flat head screws

When required for special offsets,
mount spacer 0485-99-117 under escutheon plate,
longer screws may be required.

Tether body to panel
using #6 (3.0) Screw

http://ww.kasonind.com/


© 2023 Kason Industries, Inc.    IS-0028    0923 kasonind.com  |  1.800.935.2766  |  PAGE 3 of 4

0028 SafeGuard® Performer™ Locking Handle
Part Number: 10028*

INSTALLATION INSTRUCTIONS

Press lock body onto jamb Rotate lever to engage lock body

If lock body does not draw tight to exterior of jamb,
follow directions below.

LOCK BODY
ENGAGED

LOCK BODY
ENGAGED

Notch

Tab 1
minimum
adjustment

Tab 3 not active
in this view

Tab 2 active
when aligned

with notch

Turn lever to disengage lock body,
then rotate index washer to tab 2 or 3

Press lock body onto jamb Rotate lever to engage lock body

If lock body does not draw tight to exterior of jamb,
follow directions below.

LOCK BODY
ENGAGED

LOCK BODY
ENGAGED

Notch

Tab 1
minimum
adjustment

Tab 3 not active
in this view

Tab 2 active
when aligned

with notch

Turn lever to disengage lock body,
then rotate index washer to tab 2 or 3

Press lock body onto jamb Rotate lever to engage lock body

If lock body does not draw tight to exterior of jamb,
follow directions below.

LOCK BODY
ENGAGED

LOCK BODY
ENGAGED

Notch

Tab 1
minimum
adjustment

Tab 3 not active
in this view

Tab 2 active
when aligned

with notch

Turn lever to disengage lock body,
then rotate index washer to tab 2 or 3

Press lock body onto jamb Rotate lever to engage lock body

If lock body does not draw tight to exterior of jamb,
follow directions below.

LOCK BODY
ENGAGED

LOCK BODY
ENGAGED

Notch

Tab 1
minimum
adjustment

Tab 3 not active
in this view

Tab 2 active
when aligned

with notch

Turn lever to disengage lock body,
then rotate index washer to tab 2 or 3

STEP 5 STEP 6

http://ww.kasonind.com/


© 2023 Kason Industries, Inc.    IS-0028    0923 kasonind.com  |  1.800.935.2766  |  PAGE 4 of 4

0028 SafeGuard® Performer™ Locking Handle
Part Number: 10028*

INSTALLATION INSTRUCTIONS

DOOR OPENING
POSITION LABEL 
AS SHOWN

DOOR OPENING
POSITION LABEL 

AS SHOWN

Remove protective back
and adhere label
to clean panel surface

STEP 7

STEP 8

Position large multi-lingual decal (not shown) at eye level on interior surface of door close to inside release.

Note: Check function of inside release assembly to protect against human entrapment

http://ww.kasonind.com/

